
PHYS 301

HOMEWORK #6
Due : Wednesday, 11 March 2015

In questions 1 -5 , use summation notation to show that :

1. ! ÿ AâB = B ÿ ! äA-A ÿ ! äB
2. ! äAâB = A ! ÿB - B ! ÿA+ B ÿ! A - A ÿ! B

3. ! äf A = f ! äA-Aä!f where A is a vector and f is a scalar.

4. Show that ! ä!f = 0 always where f is a scalar field.

(In this case, it might help you to use determinants to compute this cross product to help you under-
stand exactly why this identity is zero.Then use summation notation to prove the identity.)

5. !f y = f!y + y!f where f and y are both scalars.


